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library ieee; 

use ieee.std_logic_1164.all; 

--definition of a full adder 

entity FULLADDER is 

 port(a,b,c:in std_logic; 

  sum,carry:out std_logic); 

end FULLADDER; 

architecture fulladder_behav of FULLADDER is 

begin 

 sum<=(a xor b) xor c; 

 carry <=(a and b) or (c and (a xor b)); 

end fulladder_behav; 
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entity NAME_OF_ENTITY is [generic  (generic_declarations)]; 

 port (signal_names: mode type; 

  signal_names: mode type; 

   . 

   . 

  signal_names: mode type); 

end [NAME_OF_ENTITY]; 
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entity example is 

port(in1min2,in3 :in std_logic; 

out1,out2 : out std_logic); -- out1: buffer std_logic or out1 : inout std_logic; 

end example; 

architecture internal of example is 

  begin 

out1 <=in1 and in2; 

out2<= out1 xor in3; 

end internal; 



�� ��������	
��

�

 

������3IB��0(�E��3�(
	��

Type���
�����0(�E�A���3*�
��� #��%�������� 
�3�V!�� <��3���W�
	��"������
�3���
��
��� (���	����*�
 �

���$N� ����'.!/��A����float,string,char,�� B� ###��������
��
��� (�� ���� 
�M
%*��� B� 
��(�E� <��%	� (
�!G�

�������������(�����,/��&(
���3����(����������������
�X��(�A������
� ������	��%�
���!�����'.!/��A���

��3	Q��

bit�Q�3��
9����������0�
� 1 ���
���!�����(#��

bit_vector� ��)
U�����%7������
����� 
�!��� ���������(
bit_vector(0 to 7)��,F��Y
��+��3*�
��

,����!��#��

std_logic,std_logic_vectro�� Q� B�,��� &�����3K��+��B3!�M�� B�Z3��-���%���- ����[������

��. =�����.!/��(�
9�������0 ,1��%	�(
�!G��1
��\���W���B#��

boolean����9]%��3��
9�true,false����������
���(#��

integer���B(����(
	����^�8��3��
9����3K��(�4%����#��

��

��

��



�� ��������	
��

�

�������)
U�����%7���Entity�,���3����������&�%%	�? =�5���(����+�#��

 x            carry     entity half_adder is       

y          port(x,y,enable: in bit; 

enable    result       carry, result: out bit); 

         end half_adder; 
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entity AND2 is 

  generic (DELAY : time:=5ns); 

  port(in1,in2 : in std_logic; out1 : out std_logic); 

end AND2; 

 

entity counter is 

  generic (BUS_WIDTH: integer :=10); 

  port (clk,reset in :std_logic; 

 count out : std_logic_vector(BUS_WIDTH -1 downto 0); 

end counter; 
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